Unit 4 Lecture 1 Slide 11


In this slide, as indicated before, the attribute emp no has been underlined to indicate that it is the key of the relation.  Since this attribute is the key, this implies that all employees must have an employee number and that these numbers must be different.


In addition, we should observe that the degree of the relation is six since this is the number of attributes making up the relation schema.


In addition, since there are five different tuples in the relation the cardinality of the relation is five.

